SMC

SVYA4X T8y F#F

g E | . oD _@EmF1-7
(== L
< < E 5- + ‘V 7‘
I e
e AL
A C— LA
FEHAI1E
EI—R RE BRZaY  mmRU ASMIH oD L A O K g
483-262607 KQ2H04-M5A 4 M5X0.8 8 7.7 17.7 14.7 133 -7V ¥167
483-262608 KQ2H04-M6GA 4 M6X1.0 8 7.7 18.7 147 13.3 F—TV ¥181
483-262609 KQ2H04-01AS 4 1/8 10 7.7 14.3 11.2 13.3 *—F ¥140
483-262610 KQ2H04-02AS 4 1/4 14 7.7/ 16.7 12 133 *=F ¥154
483-262611 KQ2H06-M5A 6 M5X0.8 10 9.7 17.7 14.7 13.3 *—F ¥173
483-262612 KQ2H06-M6A 6 M6X1.0 10 9.7 18.8 14.8 13.3 *—FV ¥181
483-262613 KQ2H06-01AS 6 1/8 10 9.7 18.4 15.3 13.3 *—F ¥147
483-262614 KQ2H06-02AS 6 1/4 14 9.7 16.7 12 13.3 F—T ¥154
483-262615 KQ2H06-03AS 6 3/8 17 9.7 18.1 13 13.3 *=Tv ¥190
483-262616 KQ2H08-01AS 8 1/8 14 12.2 225 19.4 14.2 *—Fv ¥166
483-262617 KQ2H08-02AS 8 1/4 14 12.2 22 17.3 14.2 -7V ¥172
483-262618 KQ2H08-03AS 8 3/8 17 12.2 18.1 13 14.2 *—F ¥197
483-262619 KQ2H10-01AS 10 1/8 17 14.6 23.8 207 15.6 T—F ¥211
483-262620 KQ2H10-02AS 10 174 17 14.6 27.3 22.6 15.6 FT=Tv ¥204
483-262621 KQ2H10-03AS 10 3/8 17 14.6 235 18.4 15.6 *—F ¥209
483-262622 KQ2H10-04AS 10 1/2 22 14.6 223 15.9 15.6 *—Fv ¥240
483-262623 KQ2H12-02AS 12 1/4 19 17 28.7 24 17 F—T ¥262
483-262624 KQ2H12-03AS 12 3/8 19 17 25.9 20.8 17 *—Fv ¥262
483-262625 KQ2H12-04AS 12 1/2 22 17 223 15.9 17 F—T ¥308
483-262626 KQ2H16-03AS 16 3/8 24 21.8 331 28 20.6 F=7V ¥511
483-262627 KQ2H16-04AS 16 172 24 21.8 32.1 25.7 20.6 *—=F ¥523
483-262588 KQ2H06-08A 6-8 - - 10.4-13.2 28.5 - 13.3-142 #—7Fv ¥223
483-262589 KQ2H08-10A 8-10 - - 15.9-18.5 308 - 14.2-156  #—F ¥288
483-262590 KQ2H10-12A 10-12 - - 15.9-18.5 336 - 156-17 #A—7v ¥317
483-262591 KQ2H12-16A 12-16 - - 18.5-23.8 386 - 17206  #A—Fv ¥540
g 2XERF1—T
*EQ%I:II:I olgll M o
9 0 ] ;4_ o _;0 ®
IIIIIII o m
L
WAL=}
FEHM1ME
o o o BRAF21—7 e . TEAE (S I
EXA-R BE 5 () BAEQC  FESIH 9D L A M B b
483-262628 KQ2H04-00A 4 - - 8.2 27.6 - 13.3 *T—F ¥216
483-262629 KQ2H06-00A 6 = = 10.4 27.6 = 133 *=F ¥216
483-262630 KQ2H08-00A 8 - - 13.2 29.4 - 14.2 *=Tv ¥254
483-262631 KQ2H10-00A 10 - - 15.9 322 - 15.6 =T ¥309
483-262632 KQ2H12-00A 12 - - 18.5 35 - 17 *—F ¥347
483-262633 KQ2H16-00A 16 - - 23.8 42.2 - 20.6 *—Fv ¥453
4XBRF1—-T
L L
g oD / M
?E,Enn =
IIIIIII B
=] )
H/7OX
FEHA1ME
5 @ o BREF1—7 TRAE(AS
EYI—R BE 5 (mm) ¢D L Q M ®O oN B
483-262602 KQ2TW04-00A 4 8.2 15.3 5.7 13.3 6 3.2 F—7v
483-262603 KQ2TWO06-00A 6 10.4 16.3 6.8 13.3 6 3.2 F—FV
483-262604 KQ2TWO08-00A 8 13.2 18.2 8.4 14.2 8 4.2 T
483-262605 KQ2TW10-00A 10 15.9 20.6 9.6 15.6 8 4.2 F—7V
483-262606 KQ2TW12-00A 12 18.5 23 10.7 17 8 42 *—F
: = .“ R BB 10,000 @5 L EHEOEFT &)
) 3,000H L&li EAT *sl'ﬁ*sl’ L] 'ii':'lﬁ ) B ZFEHFE&ER -

N

avFuvt—

w7

X
ZEFERES

£-5-
Fp—RE-9—
AIN—=5
Tl ES
HhyFUVT
77U
ro0-J0vo
VAU
VIF——
EEEYZANS
9437 T-1
2705wk
FIv

WE - SvJ
NURIL
HS5—-NLA
F4IY—Ib
BE-I5VF
FpRT—
BhIRT L
BE/NILD
n”%z

=372
AR - RE
FryJovg
JpyF A IF
EFHTE
LF - ZNF
AIETE
Byl
JlF
THEIERE
{LFH@
FA) - FUR




